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A

teen's function example two ways

Consider the op A = -or a.
f(0 = f(x) = 0

~ the space

--
·

Fasfunctionresi I =>some f(x) in

i

· Why is this important/usepul?
Armed with this result, we can solve-o= hix

via oooottion":
f(x) =(d(x,x)n(x8x', for any hix

·something weird at x=x'

·
Think of Xas a rameter and x as the variable--

·(tsdx,x dx = -,x-oc,x] =

- js- x)dx =1 -> discontinis

·
We will assume of itself has no problems
at x =x, i.e. tuvousof x =x'



*

we find 5(x,x)?

· Region x<X:
- dx,x) =c+d(x,XY =A(xY.x + B(X)....

i.e. it's twinx 0

Moreover, 8(0, x) =0 *BEO

TFA(XYX

·M*)x': Similar thing -d(x, x) = ((x).x+D(X

And 8(L, x) =0 = ((x)L + &(x) = 0

-D(x) = - (x)L

Hd(x)(x- 1)

&
A+ x=x i

·rity: A(x(x =((x)(x - L) A(x) =(x)(Y)
·oontiut:f(x) - A(x) = - 1 = A(x) =d(x) + 1

Therefore, ((x) + 1 =(x),L) -x((x) =-

=
ricle

texas positive
slope in

negative slope in X

N: 8(x,xY =d(x),x)



·wayto find o
Recall the problem...

A = -o.f(x) =f(x) =0 t&
we are looking for the inverse operator
We knowthere& engenvalues

Ya(x) =sin(k+x), xa = (k+),h =1,2, ...E
Ther

A"hm =1O(x,xh(x))dx)

#voracicarvininsureto
L = 1

x
=1/3

&(x,x) -exact

-knax: 1d

-kmax: 2

X

-x


